B = A7 B =

f‘i&%a
o T
iy (L)




By Fem—y

ZAER S

(18) 3B T TH)




DL |

100.00 |

Noog Lo

Gh=)

a5

10.45

0 —— N —— 50
Y v BS
T Pt
'F K P
Ny Ac

D8

12.3

DL
| 100.00

390.00

B RE S

HEXS ES| B K - N H#

EREIR- A

® & B|Bs |BE 0.5m

it

BE 1.2~1.5m

P
BRHE LA t NE N=3~4

BE 0.8~1.im

% 7 B Ko N N=1~2

BE 0.83~1l.lm

# * A
Bloelvm w=o~1

BE §.2~8.6m=

) D
B W ORBIDE | vy N=18~508E

*RK-Y VT LBREFE

i FE R B R

# R 1,100




lI'»

K- ) v 7B 4] ™ *
LI BRPYRAE BRI v E A
AN E B m
M EF AR M¥ s3% 40 238 ~ WM % A B
: v v 7T : vlzoo%z)l m*\' (peemmy X ___®| BIH I 100.00m U o P B R
. -71)- 2 )| mwsE '
: D - A BIHR IR
- & _ ) ] 2 1 + ) i o -
. . ; 8 B R AKX R "
23 " b
X B X g’f X | N |10owgo
£ ol "’_Z A FIg
(R) i‘} F) («[ ’ x . X § R
m) | m m | () (m) :
. 5 £ | x o3 I O I O 0 20 20 0w s |
- 0 —
3 79/ 050, .50 B L |05 79| LEve B 0
| 3 99914 0.50 — ) kg +B) _ L 3
E 50 VY \BBL|E B | BIBCOEAL LY | g, LS =
3 | ’ A A ! by BIRA] ook, R S A = A3
rz—: 93.2/‘% Z.00 YAAr - 2.5 '{V { 7
E .80 AN g2 sk % 3 2308 N
‘_3_‘5 974114 > g0 s _Ar:A.‘A‘ % DIk B é\f‘?Lﬁ:%'jhh% S FES e 77 5/4 -
ERE o Sy | & | BREFVART L35 N
L 4.§ 96.3/+ 3 90 | N | T 15 Wewef e Reh? Broow 3757 ;4 g\\ -;
q st 2254 35 E BT o | g2~ BEERY |t sl ol 6l g I =)
e © O 45 Zad =R
o o e Ll
pe v P . . o 3
BE = O e peocomALFoRy B T L susl 5|3 ™ 6
= ¢ N z8| . E
. 3 o IR 2 7 T EIFTH S, za]| z& z 3 =3
E o C T . ~ , |, 3
3 8.20 .| war 2ryeBiomr| 0 2 solalsls 73
eE DL 2383, o TTBE 28 7 P 3
E - o 815 . L 8 3
. e Phra oo s EHm =2 I A 1 ® 3
9 o £.5 %3 § 05 / 9::5
3 <0 20~935"3 WL K 1 |pgst il « 3
10 0. VRTT B 5. - 1018 ™ E
E e ;{f\q — 50,2199 —wE
113 : E
3 1S
123 £
3 123
135 E
L 3 135
oE E
E -
o 3
= 15—;
: 163
,lp_é “i
3 193
» 3 3
E ~20€




Tl

K—9 v s &R %7 ™ *
n ® & REYFHHE BETH -2 e TiRE
A E W A
M E & A H MR 43% 4 A 248 ~ WA &% 48 =258
L & 100, 14 ™ X m| @FEI% oo U o R AL BRI
F - v ST n-7Y— A ($66™") BN D I EL BB R
" = B | A M ﬁ 4 + & i s Eow R AR B m
% - ’
m D =
® | K B[ g [ N |1ooso
x ~ g - K f? A FIREY
Ve
R ® | ® || ® | » 1o | B R
m) | m m | bm | fm) (m) 5 % n ¥ o bmd | 1B {1020 30 w2 0 40 so |
21 s 0.50 B T | 8% % [rwerkn A7, TR , o
97641 5.50- =T N ATRILEG NE
) /.20 vv |RTBL| 27 BAESCERZND. | G Sy 415 £ /2] ) ! E
- 98.44%. .70+ XV = _ /.42 ; 3
i X > & N A W
: , 20 18 8| %% if‘t‘:LZJ f13 215 PN 2
97241 z.90 ‘ v s s | 4o\ Lis E
124+ 2.90 4 : e Z 72 I3
, ” Z | LB ERT oL o 2S /V 33
3 : 0.80 »or 5 ot Fow E
g 7644 3.70 # 19| ARG, HafblL gl % . 74_5
ER 2 sl sl T 3
3 . 7F5 \ 3
53 pz-70%h HEfamy) B - 53
E 580 ) 3
3 X ff‘£5$. 3
-6 -3 = : ) 6./5 63
= . g0 || 23]13 E
E O o) A1 73~ 92 "™MTIL 13 o 3
-7 3 o4 v 31 I 13~ 7 ! 715 P73
3 8.60 £ o PR | mrRe x| [l elsisls i E
e s T N 5
E 7. - - ]
E . Z Z E
yE . . 9.5 I Lo 3
3 Fla. proova FEE 5 SZ ALY 3
3 N T 737] 2 4 E
103 o o8 SUE
3 S 43 s0| a|s9 3
g BFEY w5 TG0 ;0.45] | E
Lll: Py 15 ol e S F1
-i 11.-33] 78 8 N =
R 87.84| sz.30 1Z.15 0|83z »12_"15
._5 1Z.30 s5 5 —g
135 133

-1525_- 15
>l6;§ 16
H7:§ ‘ . ) F17
48:2 18
~19:§ 9

——E |20

]

sl pebgn b ol b bbb st




